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QUESTION 1

Which two policies would allow an administrator to configure disaster recovery and archiving in the same destination
volume? (Choose two.) 

A. MirrorAllSnapshots 

B. MirrorAndVault 

C. Unified7year 

D. MirrorLatest 

Correct Answer: BC 

Reference: https://library.netapp.com/ecm/ecm_download_file/ECMLP2811525 

 

QUESTION 2

A customer wants to change a SnapMirror replication schedule to update more frequently. They have 25 GB of data per
update to be replicated along a single 1 Gbps Ethernet link. 

In this scenario, what is the minimum amount of time required between SnapMirror updates? 

A. 20 minutes 

B. 200 minutes 

C. 3 minutes 

D. 5 minutes 

Correct Answer: A 

 

QUESTION 3

A user\\'s home directory, mounted using NFS, has been encrypted by a ransomware attack. The user asks you to
retrieve the data. 

In this scenario, which process would allow you to accomplish this task? 

A. Restore the data from a Snapshot copy. 

B. Take a new Snapshot copy of the volume. 

C. Apply the XDPDefault policy to the volume. 

D. Apply the MirrorAllSnapshots policy to the volume. 

Correct Answer: A 
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QUESTION 4

Click the Exhibit button. 

You are configuring a SnapMirror relationship to capture all daily activities and archive them. Information about the
environment is shown in the exhibit. 

In this scenario, how much data must be transferred during the scheduled SnapMirror update? 

A. 150 GB 

B. 200 GB 

C. 50 GB 

D. 250 GB 

Correct Answer: B 

 

QUESTION 5

In a MetroCluster IP configuration, which two network ports must be connected to dedicated switches? (Choose two.) 

A. the port associated with the cluster LIF 

B. the port associated with the node management LIF 

C. the port associated with the intercluster LIF 

D. the port associated with the MetroCluster IP LIF 

Correct Answer: AB 
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